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p. 63 - Self-Review 3-3 – 1a) answer is “$297”, not what is shown at the back of the chapter.

p. 82 - formula for Pearson’s coefficient of skewness – in the denominator, the “n-1” should be an “s”.
p. 91 – under EXAMPLE solution of step 2, it should be “1050 x 75”, but not “1050 x 14”.

p. 94 – the final formula has an “M” where it should be “x”.

p. 98 - #90, table at top of page – change “Amount Spent ($)” to “Number of kilograms”.
p. 113 - under EXAMPLE solution, the last line should be “nPr=(8)(7)(6)5!/5!”, not “=(8)(7)(6)5!/5”.
p. 133 - #69b. – change “less than 40” to “equal to or less than 40”.

p. 161 - #44 – change “dice” to “heads or tails”.

p. 169 – last paragraph – change (238/283)/1.6 to (283/283)/1.6.

p. 343 - Formula in 12-2 – the squared sign should be on the inside of the last bracket – not outside.
p. 362 - #2 pg 362, middle of page where it says “prediction interval=” there should be a “1 +” under the square root sign at the beginning of the formula as it shows in formula 12-10.

p. 463 – chapter 6, solutions, Q7c. – bottom of equation, change to 4 from 2.5.

